RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Completion of Tribal Responsibilities and Obligations related to Construction of Facilities for Utilization of Central Arizona Project Water and Irrigation Systems in the Eastern Schuk Toak District; Authorizing Expenditures from SAWRSA Trust Fund)

RESOLUTION NO. 99-334

1	WHEREAS,	the Southern Arizona Water Rights Settlement Act of 1982 (SAWRSA),
2		P.L. 97-293, directed the construction of facilities for the utilization of
3		Central Arizona Project water and irrigation systems in the eastern Schuk
4		Toak District; and
5	WHEREAS,	construction activities set forth in P.L. 93-638 Grant Agreement 6-FG-32-
6		00100 have advanced to a point where activities beyond the scope of the
7		Agreement are feasible; and
8	WHEREAS,	funds are available from interest earned on the SAWRSA Trust Fund and
9		from rental payments received for the use of the Schuk Toak Pipeline;
10		and
11	WHEREAS,	the Tohono O'odham Nation must fulfill its responsibilities and
12		obligations as set forth in SAWRSA; and
13	WHEREAS,	the Tohono O'odham Nation, through the Water Projects Office, has
14		developed a consistent and reliable construction process and has
15		successfully administered more than 35 construction contracts; and
16	WHEREAS,	a consistent and timely process would promote cost controls in the
17		Nation's construction obligations.
18	NOW, THER	EFORE, BE IT RESOLVED by the Tohono O'odham Legislative Council
19		that, in order to remain consistent with the contracting processes
20		established in the P.L. 93-638 Grant Agreement, hereby directs the
21		inclusion of the procurement procedures and the standard construction
22		clauses (Exhibits A and B) attached hereto.

	RESOLUTION NO. 99-334 (Completion of Tribal Responsibilities and Obligations related to Construction of Facilities for Utilization of Central Arizona Project Water and Irrigation Systems in the Eastern Schuk Toak District; Authorizing Expenditures from SAWRSA Trust Fund) Page 2 of 3						
1	BE IT FURTHER RESOLVED by the Tohono O'odham Legislative Council that it						
2	hereby approves the funding request and authorizes the expenditures in						
3	the amount of \$1,599,730 to complete tasks indicated in the attached						
4	budget for the fiscal year 1999.						
5	BE IT FINALLY RESOLVED that funds in the amount of \$1,599,730 are hereby						
6	appropriated from the SAWRSA Trust Fund to cover the period from						
7	April 1, 1999 through September, 1999.						
8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23	The foregoing Resolution was passed by the Tohono O'odham Council on the 08TH. day of JUNE, 1999 at a meeting at which a quorum was present with a vote of 2.165.5 FOR; -Q- AGAINST; -Q- NOT VOTING; and [01] ABSENT, pursuant to the powers vested in the Council by Section 1 (d)(2) & (f) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984). TOHONO O'ODHAM LEGISLATIVE COUNCIL Dennis Ramon, Legislative Chairman 147 day of June 1, 1999						
24 25 26 27 28 29	ATTEST: Julianna Saraficio, Acting Legislative Secretary						
30 31 32							

	RESOLUTION NO. 99-334 (Completion of Tribal Responsibilities and Obligations related to Construction of Facilities for Utilization of Central Arizona Project Water and Irrigation Systems in the Eastern Schuk Toak District)								
	Page 3 of 3								
1	Said Resolution was submitted for approval to the office of the Chairman of the Tohono								
2	O'Odham Nation on the 14th day of June, 19 99								
3	at $5:09$ o'clock, P .M., pursuant to the provisions of Section 5 of Article VII of the								
4	Constitution and will become effective upon his approval or upon his failure to either								
5	approve or disapprove it within 48 hours of submittal.								
6									
7	TOHONO O'ODHAM LEGISLATIVE COUNCIL								
8									
9	Den K								
10	Dennis Ramon, Legislative Chairman								
11									
12									
13									
14	the second								
15	[X] APPROVED on the day of 1997 [] DISAPPROVED at 7:58 o'clock, A.M.								
16 17	[] DISAPPROVED at 7.58 o'clock, A.M.								
18									
19	The Day of								
20	EDWARD D. MANUEL, Chairman								
21	TOHONO O'ODHAM NATION								
22	TOHONO O ODIAM MATION								
23									
24									
25									
26 27	Returned to the Legislative Secretary on the day of								
28 29									
30	Canti								
31 32	Julianna Saraficio, Acting Legislative Secretary								
32 33	Intimiting contractor, treating productive contractors								

ACTION: COMPLETION OF TRIBAL RESPONSIBILITIES AND OBLIGATIONS RELATED TO CONSTRUCTION OF FACILITIES FOR UTILIZATION OF CENTRAL ARIZONA PROJECT WATER AND IRRIGATION SYSTEMS IN THE EASTERN SCHUK TOAK DISTRICT; AUTHORIZING EXPENDITURES FROM SAWRSA TRUST FUND

MOVED: COUNCILMAN TONY BURRELL SECOND: COUNCILWOMAN FRANCES MIGUEL

JUNE 08, 1999 DATE:

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	x			x
	2. RITA MARTINEZ (Nicholas Jose)	85.9	x			
SELLS 372.7	1. DENNIS E. JOSE	186.35	x			x
<i>Ş12.1</i>	2. EVELYN JUAN ()	186.35	x			
SCHUK TOAK 133.4	1. MARY FLORES	66.7	x			
133.4	2. AMBROSE ENCINAS ()	66.7	x			
SAN XAVIER	1. TONY BURRELL	82.95	x			
165.9	2. DENNIS RÁMON ()	82.95	x			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	x			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	x			
GU ACHI	1. CAMILLUS LOPEZ (Louis Johnson)	104.8	x			
209.6	2. ALEX J. RAMON ()	104.8	x			
PISINEMO	1. BARBARA SALVICIO (Alex Antone)	78.4	x			
156.8	2. JOHNSON JOSE ()	78.4	x			
SAN LUCY 128.1	1. ALBERT MANUEL, JR.	64.05	x			
120.1	2. GLORIA RAMIREZ ()	64.05	x			
GU VO	1. FERN SALCIDO	80.0		x		
160.0	2. GLORIA MONTANA (Phillip Antone)	80.0		x		
HICKIWAN 158.1	1. ALEX JOSE (Shirley Santos)	79.05	Х			
120.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	X			х
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	x			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			x
T	OTAL	2,165.5	2,005.5	160.0	-0-	[04]